# CONTRACTOR A

Summary

**Prelims** 

works

option

Sheet2

Sheet3

# **Ilminster Recreation ground**

#### **Preliminaries**

Item	Dimensions	Description	Quantity	Unit	Rate	Value
	Item	Provide temporary fencing (Heras type) to secure the site	1	item	£1,000.00	£1,000.00
						£0.00
	Item	Provide temporary signage to indicate the footpath is closed	1	item	£250.00	£250.00
						£0.00
	Item	Use of existing WCs	1	item	£250.00	£250.00
						£0.00
	Item	Transport of plant etc	1	item	£500.00	£500.00
						£0.00
						£0.00
						£0.00

£2,000.00

Summary	Prelims	works	option	Sheet2	Sheet3
---------	---------	-------	--------	--------	--------

# **Ilminster Recreation ground**

Works

WOIKS				
Item	Dimensions	Description	Quantity Unit Rate	Value
	1.00	Remove and dispose of the existing red steel gate and posts at the bottom of the existing ramp	1 item £100.00	£100.00
	1.00	Remove the existing barriers at the top of the existing ramp and dispose	1 item £100.00	£100.00
	1.00	Supply and fix a new gate at the top of the new	4 34 0005 00	£0.00
		ramp	1 item £825.00	£825.00 £ 725.00 £ 100.00 £0.00
	1.00	Carefully take out existing steel cycle rack next	1 item £100.00	£100.00
		to gate and set aside	7 110111 2 100.00	£0.00
	1.00	Allow for subsequently re-fixing in location to be agreed by Employer	1 item £150.00	£150.00
	4.00			£0.00
	1.00	Carefully remove existing litter bin next to steel gate and hand to Employer	1 item £50.00	£50.00
	1.00			£0.00
	1.00	Carefully remove existing painted steel bench inside play park and hand to Employer	1 item £100.00	£100.00
	1.00	Locally remove approx. 10m of timber post and		£0.00
	1.00	rail fence at the top of the existing ramp	1 item £50.00	£50.00
	1.00	Provide approx. 10m of new fence to similar post		£0.00
		and rail construction on new line as shown	1 item £450.00	£450.00
	8.83	Cut out existing path locally at points where new		£0.00
		path meets the existing path and also remove the length of existing path to be realigned	10 m2 £15.83	£158.30
	1.12	9.85		£0.00
	52.00	Supply and place 6Ff2 granular material to raise		£0.00
		the level under the existing path and new embankments.	130 m2 £36.97	£4,806.10 Ave 600
1.00		2.40 &		00.03
	1.30 67	7.60		£0.00 £0.00
	130	0.00 Grade material to required falls - the new fall shall be generally 1:16 with a flat landing every 6m	130 m2 £2.67	£347.10
2.00	50.00			£0.00
2.00	<u>52.00</u> 104	.00 Supply and lay new 50 x 150mm precast concrete flat top edgings to both side of new paths	104 m £25.96	£2,699.84
	52.00	Supply and lay minimum 100mm thickness of		£0.00
	32.00	Supply and lay minimum 100mm thickness of DOT 803 Type 1 granular material under new paths	62 m2 £13.17	£816.54
	1.20 62	40 &		£0.00
		O.		£0.00 £0.00
		Supply and lay tarmacadam paving to new paths comprising 50mm thickness of 20mm aggregate base course and 20mm thickness of 6mm	62 m2 £30.58 £	£1,895.96
		aggregate wearing course		60.00

50.00

Item	Allow for sealing to existing tarmacadam.	1	item	£104.04	£104.04 £0.00
2.00 52.00	Import topsoil 200mm thick to finish either side of new ramp and grade new banks	208	m2	£13.11	£2,726.88
2.00 208.00		208	m2	£10.45	£0.00 £0.00 £0.00 £2,173.60 £0.00 £0.00 £0.00 £0.00
				-	£17,653.36 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00
					£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00
					£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00
					£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00
					£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00

tu uu

Summary Prelims works option Sheet2 Sheet3

# **Ilminster Recreation ground**

## Alternative

Tempor   Path	Alternat	tive							
8	ltem	0	imensions		Description	Quantity	Unit	Rate	Value
Path edgings		2.00	38.00	76.00	Excavate both sides of existing path for edgings	76	m	£6.26	£475.76
Path edgings   76 m   £25.96   £1,972.96   £0.00     38.00									
Path edgings					&				
1.20					Path adaings	76	m	£25 96	
120   45 60					Patrieugings	, 0		20.00	
Supply and lay tarmacadam paving to new paths comprising 50mm thickness of 20mm aggregate base course and 20mm thickness of 6mm aggregate wearing course   \$0.00			38.00			46	m2	£13.17	
Supply and lay tarmacadam paving to new paths comprising 50mm thickness of 20mm aggregate base course and 20mm thickness of 6mm aggregate wearing course   \$1,406.68			1.20	45.60					£0.00
Supply and lay tarmacadam paving to new paths comprising 50mm thickness of 20mm aggregate base course and 20mm aggregate wearing course   £0 00			-		&				£0.00
Item   Allow for sealing to existing tarmacadam.					Supply and lay tarmacadam paying to new paths	3			20.00
Item   Allow for sealing to existing tarmacadam.					comprising 50mm thickness of 20mm aggregate base course and 20mm thickness of 6mm		m2	£30.58	
2 00   38.00   Import topsoil 200mm thick to finish either side of new ramp and grade new banks of new ramp and grade new banks   £13.11   £498.18   £0.00								000.00	
2.00   38.00   Import topsoil 200mm thick to finish either side of new ramp and grade new banks   £0.00   £0			Item		Allow for sealing to existing tarmacadam.	1	item	199.90	
0.50 38.00		2.00	38.00		Import topsoil 200mm thick to finish either side	20		C42 44	
## Substitute		2.00	00.00			38	mz	£13.11	
Turf new margins and banks on completion 38 m2 £10.38 £394.44 £0.00  Item Allow the Provisional Sum of £1,500 for addressing alterations to the existing fence and possible railings or a gate £6,000			0.50	38.00					
Turf new margins and banks on completion   38 m2   £10.38   £394.44   £0.00					&				
Item					Turf new margins and banks on completion	38	m2	£10.38	
addressing alterations to the existing fence and possible railings or a gate    1					Turr new margins and banks on completion	50	1112	210.00	
£0.00 £6,328.82 £0.00			Item		addressing alterations to the existing fence and	1	item	£850.00	£875.00
£6,328.82					possible runnings of a gate				
£0.00 £0.00								-	
£0.00 £0.00								=	
£0.00 £0.00									
£0.00 £0.00									
£0.00 £0.00									
£0.00 £0.00									
£0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									£0.00
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									£0.00
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00 £0.00 £0.00									£0.00
£0.00 £0.00 £0.00 £0.00 £0.00									
£0.00 £0.00 £0.00 £0.00									
£0.00 £0.00									£0.00
£0.00 £0.00									
£0.00									

Summary Prelims works option Sheet2 Sheet3

# **Ilminster Recreation ground**

## **Preliminaries**

Item	Dimensions	De	escription	Quantity Unit	Rate	Value
		Preliminaries				£2,000.00
						£0.00
		Works				£17,653.36
						£0.00
		Option				£6,328.82
						£0.00
						£0.00
						£0.00
						£0.00
						£0.00

£25,982.18



#### Footpath at Ilminster Recreation Ground

Page 2					
A	Provide temporary fencing (Heras type) to secure the site.	£	1,495.00		
В	Provide temporary signage to indicate the footpath is closed.	£	143.75		
C	The Contractor will be appointed Principal Contractor under the CDM Regulations 2015.		115.00		
D	Allow for all necessary welfare facility necessary to undertake the works	£	57.50		
	Allowance for making good area where stone tipped	£			
	Allowance for transporting plant and general diesel etc	£	862.50		
		£	2,990.00	£ 2	,990.00
Page 3					
Α	Remove and dispose of the existing red steel gate and posts at the bottom of the existing ramp.	£	28.75		
В	Remove the existing barriers at the top of the existing ramp and dispose.	£	28.75		
C	Supply and fix a new gate at the top of the new ramp (ie where barriers removed). Gate to be a Flat				
	Topped Pedestrian Gate – colour red (1m high gate allowed, standard handing)	£	1,092.50		
D	Carefully take out existing steel cycle rack next to gate and set aside. Allow for subsequently re-fixing in				
-	location to be agreed by Employer.	£	201.25		
E F	Carefully remove existing litter bin next to steel gate and hand to Employer.	£	28.75		
G	Carefully remove existing painted steel bench inside play park and hand to Employer.  Locally remove approx. 10m of timber post and rail fence at the top of the existing ramp (on East -	£	28.75		
· ·	Orchard Vale side) and dispose.	£	115.00		
Н	Provide approx. 10m of new fence to similar post and rail construction on new line as shown.		747.50		
1	Cut out existing path locally at points where new path meets the existing path and also remove the	L	747.30		
	length of existing path to be realigned (that running from the existing red gate towards the WCs) – Note				
	the new path can generally be left in place and the new path laid over it.	£	258.75		
J	Supply and place 6F2 granular material to raise the level under the existing path and new	0.77			
	embankments. Ensure material is well compacted in layers	£	2,295.40		
K	Grade material to required falls - the new fall shall be generally 1:16 with a flat landing every 6m.	£	402.50		
L	Supply and lay new 50 x 150mm precast concrete flat top edgings to both side of new paths. Curved				
	sections to be laid using cut pieces. Edgings to be set on concrete foundation and haunched in concrete.				
			3,569.60		
M	New paths to be 1200mm wide measured across the edgings.	£	-		
N	Supply and lay minimum 100mm thickness of DOT 803 Type 1 granular material under new paths.	-	1,150.00		
Page 4		£	9,947.50 £	9,9	947.50
A	Supply and lay tarmacadam paving to new paths comprising 50mm thickness of 20mm aggregate base				
	course and 20mm thickness of 6mm aggregate wearing course. Allow for sealing to existing				
	tarmacadam.	f :	2,121.75		
В	Import topsoil 200mm thick to finish either side of new ramp and grade new banks – the ground shall	~ .	,,		
	run out level with the edging for 500mm each side of the new ramp, before being graded down to the				
	existing ground level at max 1:2.	£ 1	,408.75		
C					
	Turf new margins and banks on completion and generally make good any areas disturbed by the works		,495.00		
		£ 5	,025.50 £	5,0	25.50
Page 5					
Α	Excavate both sides of existing path and supply and lay new 50 x 150mm precast concrete flat top				
	edgings to both side of new paths. Curved sections to be laid using cut pieces. Edgings to be set on		145.40		
В	concrete foundation and haunched in concrete.  To both sides of existing path, supply and lay minimum 100mm thickness of DOT 803 Type 1 granular	£ 3	,146.40		
	material under new path.	_	690.00		
С	Supply and lay tarmacadam paving to new path comprising 50mm thickness of 20mm aggregate base		030.00		
	course and 20mm thickness of 6mm aggregate wearing course. Allow for sealing to existing				
	tarmacadam.	£ 1	,719.25		
D	Make good edges of new path with soil and turf as necessary.		,063.75		
Ε	Allow the Provisional Sum of £1,500 for addressing alterations to the existing fence and possible railings				
	or a gate at the point where the path meets the existing highway footpath.	£ 1	,500.00		
		£ 8	119.40 £	8,1	19.40
	Tabliford MAT		-		
	Total (excl VAT)		£	26,0	82.40

#### Qualifications

Price exclusive of VAT

As discussed with Mr Slade, we have assumed that if the option stated on Page 5 is accepted, that this will be done as part of the main ramp (ie not done as a separate contract)

As discussed with Mr Slade, no allowance has been made for any muckaway - we have assumed any hardcore type material can be placed in the bottom of the fill and any subsoil type material used in the banks.

The price for the gate is for the 1.00m high version with standard handing